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~ Use the I-
.7 9raph below for Questions 1 & 2. 1

o

on is a function because it passes through the x-axis only once.
is a function because it passes through the y-axis only once.

D. [=6,»)
E. [-2,2] Domain

(select one)

Oral
Presentation

. The function
s -qﬂer it is thrown.
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the three functions. X s 4

5),(4,5). (:2,5) , (3} 4) @
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(x), and h(x).

h(x) = 3.5(1.25)* flx) =— ix +8

{:(L'\\: ‘-—lq—(L{\ .\%
= -1+¢

L0 .0 00 o

X| - 2 given the domain values {-2, 0, 5}?

|3(0)|-2 9(5)= \3(5Y|-2
B0 | -2 15 -2
15-2
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B. The nonnegative real numbers

D. The nonnegative rational numbers

.5x2 — 2 and sketched its graph. Her student, Emelia stated
uation. Do you agree with Emelia? Justify your answer.
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foll : - time. The initial population
following graph shows the population or a neighborhood over | population of -
\borhood was 10 people. What is the domain of the function and what does it represent in
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9 The(he of the falls, t hours after it is formed is given by

g would best describe the domain of this function?

Which of the follow

ith, in feet, each week can be modeled by the
e vine is expected to reach full height when it is

be modeled by the function
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